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Which of the following is not |
correctly matched ? 1

(Rebellion) (Leader)
1) Kol — Kanhu
(2) Munda — Birsa
(3) Santhal — Sidhu
(4 Mopalah — Al

Musaliyar

‘He started modermsation of
military apparatus and introduced
Enfield rifles in the army.” Who
was he ?

(1) Lord Dalhousie

(2) Lord Henry Harding

(3) Lord Canning

(4) Lord Curzon

Who among the following was not
associated with Mahatma Gandhi
during Champaran Satyagrah ?

(1) Sachidanand Sinha

(2) J.B. Kripalani ”
(8) Rajkumar Shukla

(4) Rajendra Prasad

Choose the correct chronological
order of the following events :
(i) August Declaration

(i) MacDonold Award

(iii) August Proposal

(iv) Wavell Plan

Code :

(1) @, @), (iii) and (v)

(2) (@ti), (i1), @) and (v)

(3) @), @), (i) and Gv)

(4) @, (i), (1) and (v)

Who among the following founded
the Bhil Seva Mandal ?

(1) Govind Guru

{2) Motilal Tejawat

(3) D.K. Karve

(4) A.V. Thakkar
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The State Reorganisation

Commission recommended —

(1) Creation of Sixteen States and
Six Union Territories.

(2) Creation of Fourteen States
and Six Union Territories.

(8) Creation of Fourteen States
and Seven Union Territories.

(4) Creation of Fourteen States
and Five Union Territories.

Who was the first Chairman of the
Atomic Energy Commission ?

(1) Jawahar Lal Nehru

(2) Krishna Menon

(3) Homi J. Bhabha

(4) Shanti Swaroop Bhatnagar

How many members, out of the
total number of Central Legislative
Assembly, were to be elected as
according to the provisions of
Government of India Act, 1919 ?
(1) 1/3 member (2) 5/7 member
(3) 3/4 member (4) 2/3 member

Which article of the Constitution of

India mentions that there is equal

pay for equal work for both men

and women 7

(1) Article-39(a) (2) Article-39(c)

(3) Article-39(d) (4) Article-39(f)

Consider the fundamental duties

mentioned literally in Article 51 A

of the Constitution of India :

I. to cherish and follow the noble
ideals which inspired our
national struggle for freedom.

II. to defend the country and
render national service when
called upon to do so.

IT1. to organize agriculture and
animal husbandry.

Select the correct answer using the

code :

Code :

(1) Only 1is correct.

(2) Only I1 is correct.

(3) Only II and IIT are correct.

(4) Only I and II are correct.
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] 1L Read the following statements

carefully in reference to the
Constitution of India :

Statement 1 : There shall be a
Council of M'misters with the
Prime Minister at the head to aid
and advise the President who
shall, in the exercise of his
functions, act in accordance with
such advice.

Statement 2 : President may

require the Council of Ministers to

reconsider such advice, either

generally or otherwise, and the

President shall act in accordance

with the advice tendered afiter such

reconsideration.

Select the correct option among the

following :

(1) Only statement 1 is true.

(2) Only statement 2 is true.

(3) Both statements 1 and 2 are
true.

(4) Both statements 1 and 2 are
false.

Who among the following said that —
“There is mno provision in the
Constitution which in so many
words lays down that the President
shall be bound to act in accordance
with the advice of his Councii of
Ministers.”

(1) Dr. Bhim Rao Ambedkar

(2) Sardar Vallabhbhai Patel

(3) Shri K.R. Narayanan

(4) Dr: Rajendra Prasad

When did the National Integration
Council declare its objectives for
the first time ?

(1) 1967

(2) 1968

(3) 1969

4 1970
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i 14. Which among the following is not a

correctly matched pair 7

(Case) (Year of
Judgement of
Supreme Court)
(1) Anil Yadav vs. Stateof — 1982
Bihar
(2) S.P. Gupta vs. Union of — 2001
India
(3) Vishaka vs. State of — 1997
Rajasthan
(4) A.D.M. Jabalpur vs. — 1976
Shivkant Shukia
i 15. According to the Rajasthan

Panchayati Raj (Modification of
Provisions in their Application to
the Scheduled Areas) Rules, 2011,
consider the following statements
regarding the powers and rights of
Panchayati Raj Institutions :

Statement (I) : The work of
acquisition of land will be done by
the government only  after

Statement (II) : Except for money

lending, intoxication control and

the power of summary ejectment of

trespassers, all the powers related

to maintaining law and order shall

be exercised by the Panchayat Samiti.

Select the correct option from the

following :

(1) Only statement () is true.

(2) Only statement (II) is true.

(3) Both statements (I) and (II)
are true.

(4) Both statements (I) and (II)
are false.

Which of the following articles does

not require vratification by the

legislatures of less than one-half of

states to amend them ?

(1) Article—53 (2) Article —54

(3) Arxticle—55 (4) Article - 73
o
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17. Consider the following statements

18.

19.

regarding Article 200 of the

Constitution of India :

I. The Bill passed by the
Legislative Assembly is
presented to the Governor.

II. The Governor shall declare

either that he assents to the

Bill or that he withholds

assent therefrom.

The Governor assents to the

Bill or withholds assent or

reserves it for the

consideration of the President.

Seleet the correct answer using the

code :

Code :

(1) Only I is correct.

(2) Only I and II are correct.

(3) Only Il is correct.

(4) I, 11 and III are correct.

If any question arises as to the age

of a judge of the High Court in

India, who decides it 7

(1) By the Governor in
consultation with the Chief
Justice of the High Court.

(2) By the President in
consultation with the Chief
Justice of India.

I11.

(3) By the Chief Justice of India in
consultation with the
President.

(4) By the Chief Justice of {udia in
consultation with the
Governor.

By which Act the District Collector
was made the Chairman of the
District Disaster Management
Authority ?
(1) Disaster Management Act, 2004
(2) Disaster Management Act, 2005
(8) Disaster Management Act, 2007
(4) Disaster Management Act, 2008
11
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Read the following statements
carefully in reference of Rajasthan
State Human Rights Commission :
Statement (I) : The State Human
Rights Commission is an
autonomous high power human
rights watch body which derives its
authority from the Protection of
Human Rights Act, 1993.
Statement (II) : Its autonomy lies
in the method of appointment of its
Chairperson and Members, their
fixed tenure and the financial
autonomy.
Statement (ITI) : A distinguished
jurist can be appointed as
Chairperson.
Select correct option among the
following :
(1) Statements (I) and (II) are true.
(2) Statements (II) and (III) are
true.
(3) Statements (I) and (III) are true.
{4) Statements (I), (I) and (III) are
true.
Which of the following article of
Constitution of India authorise
municipalities to levy, collect and
appropriate taxes, duties, tolls and fees ?
(1) Article 243W (2) Article 243X
(3) Article 243Y (4) Article 2437
Read the following statements
carefully :
Statement 1 : Rajasthan Information
Commission (Management)
Regulations, 2007 was framed under
Section 15(4) of the Right to
Information Act, 2005.
Statement 2 : The Rajasthan
Information Commission has the
authority to impose penalty of ¥ 250
per day and a maximum of ¥ 50,000
on the Public Information Officer.
Select the correct option among the
following :
(1) Only statement 1 is true.
(2) Only statement 2 is true.
(38) Statements 1 and 2 are true.
(4) Statements 1.and 2 are not true.
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In which chapter of the Protection
of Human Rights Aect, 1993,
provisions related to the State
Human Rights Commission have
been made ?

(1) Chapter-IV (2) Chapter-V
(8) Chapter-VIiI (4) Chapter-VII

Consider the following statements :

I. According to Article 163 there
shall be Council of Ministers to
aid and advice the Governor.

According Article 164(1) the
Chief Minister shall be
appointed by the Governor.

II1. According Article 164(1), the

11

Ministers shall hold office
during the pleasure of the
Governor.

Select the correct answer using the
code.

Code :

(1) Only T is correct.

(2) Only I1 is correct.

(8) Only I and IIT are correct.
(4) I, II and III all are correct.

Which of the following is not
included in the obligation of the
public authority as per Section 4 of
the Right to Information Act 2005 ?

(1) To publish the particulars,
functions and duties of its
organization within 120 days.

(2) Updating published information
every month.

(3) Duly indexing all records so as
to facilitate the exercise of this
right.

Ensure that all rxecords are
computerised.

4)

11
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Which of the following optien is not
mentioned in Section 8 (1) of the
Right to Information Act 2005

‘which contains that there shall be

no obligation to give any citizen

information ?

(1) Information, disclosure of
which would cause a breach of
privilege of Parliament or the
State Legislature.

(2) Information received in
confidence from foreign
Goveérnment.

(3) Information, disclosure of
which would prejudicially
affect the sovereignty and
integrity of India.

(4) Information that hampers the
process of development of the
State.

Which of the following is not
correctly paired ?
(Provision)

Residuary powers of
legislation.

Power of Parliament to
legislate with respect to
any matter in the State
Liast if a proclamation of
emergency is in
operation.

Power of Parliament to
legislate for two or more
states by consent.

Power of Parliament to
provide for the
establishment of certain
additional courts.

Ozark platean is located in —
(1) North Brazil (2) Guatemala
(3) USA. (4) Mexico

In which country the ‘COP 27 —
United Nations Climate Change
Conference’ was organized in
November 2022 ? _

(1) Saudi Arabia (2) Egypt

(8) Iran

(4) Turkmenistan
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“Global-200” refers to—

(1) The richest, rarest and most
distinctive eco-regions in the
world.

(2) Top 200 Green Industries of
the world.

(3) Top 200 Educational Institutes
of the world.

(4) Most  important
centres of the world.

Which of the following two ports
are connected with North Pacific
Ocean Route ?

(1) Halifax and London

(2) Montevideo and Lisbon

(3) San Francisco and Kobe

(4) New York and Luanda

Identify the city which is
headquarters of the world famous
automobile manufacturer company
‘General Motors' (GM) from
following.

(1) New York  (2) Pittsburgh
(3) Detroit (4) Boston

Dhaula — Dhar range lies in —
(1) Shivalik Himalaya

(2) Purvanchal Himalaya

(3) Greater Himalaya

(4) Lesser Himalaya

The Xoraput mine located In
Odisha is famous for which of the
following mineral ?

(1) Iron-ore (2) Bauxite

13) Copper (4) Zinc

Which of the following National
Waterways is located in the Zuari
River of Goa state ?

(1) National Waterways — 10

(2) National Waterways — 91

(3) National Waterways — 100

(4) National Waterways— 111

tourist

i1
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Budge-Budge, Samastipur .and

Katihar are centres of

(1) Jute mills

(2) Cotton textile mills
(3) Wheel and Axle plant
(4) Chemieal industry

The Khangchendzonga National
Park has been given the status of
World Heritage Site by UNESCO in
which category in the year 2016 ?

(1) Natural World Heritage Site
(2) Mixed World Heritage Site

(3) Cultural World Heritage Site
(4) Historical World Heritage Site

Which of the following is correctly

arranged in descending order in

terms of average annual rainfall ?

(1) Bharatpur, (Ganganagar,
Jaipur, Jodhpur

(2) Udaipur, Bikaner, Pali, Jaisalmer

(3) Bharatpur, Jodhpur, Jaipur,
Ganganagar

(4) Udaipur, Pali, Bikaner, Jaisalmer

In which district of Rajasthan

Menar village is located, which is

popularly known as ‘Bird Village’ ?

(1) Udaipur (2) Jodhpur

(3) Bharatpur (4) Jhalawar

. Siddhmukh project gets its water

from river
(1) Jakham (2) Narmada
(3) Raviand Beas(4) Parvati

. Which of the following is a famous

mine of rock phosphate ?
(1) Jhamar-Kotra (2) Nat ki Neri
(3) Salumber (4) Bidasar

. As per Census 2011, how many

cities and towns were there in
Rajasthan with population one
lakh and above 7
1) 22
(3) 30

2) 26
) 32
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Which of the following statement is

not correct regarding proportional

taxation ?

(1) 1tis not equitable.

(2) It is less elastic as compared
to progressive taxes.

(3) It has adverse effect
distribution of wealth.

(4) It is in accordance to a
person’s ability to pay.

on

Which of the following is not an
instrument of fiscal policy ?

(1) Budget

(2) Tax

(3) Public Expenditure

(4) Credit Availability

Who gave the definition, “Inflation
is too much money chasing too few
goods.” ?

(1) Hawtrey

(2) Coulbourn

(3) Emily Jones

(4) Gardner Ackley

As per NSO first advance
estimates of 2021-22 in India the
share of services in Gross value
added in percent was

1) 28.2 2 53.0

(3) 50.0 (4) 38.2

Which of the following is a

government food security measure

adopted to prevent distress during

COVID-197

(1) Ujjawala Yojana

(2) PM-KISAN

(3) Cash transfer to Women Jan —
Dhan Account Holders

(4) Palanhar Yojana
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Consider the following statements

about Rajasthan Economy :

(A) The sex-ratio in urban region
has improved by 24 females
per thousand males between

year 2001 to 2011.
(B) The literacy rate has
continuously  witnessed an

upward trend from 1961 to
2011.

Choose the correct option :

(1) Both (A) and (B) are true.
(2) Both (A) and (B) are false.
(3) Only (A) is true.

(4) Only (B)is true.

Atal Bhu Jal Scheme was launched
on 1st April, 2020 by Government
of India with the assistance of

(1) Asian Development Bank
(2) IMF

(3) World Bank

(4) MIGA

Match the following -correctly
with regards to the share of
various sub-sectors of agriculture
in Rajasthan’s Gross State Value
Added (GSVA) in year 2021-22 at
current prices :

List -1 List—IT
Crops i. 0.37%
. Livestock . 7.44%
. Forestry and Logging 1ii. 45.94%
. Fishing iv. 46.25%
Select the correct option :
Codes :
A B C D
() iv m 1 1
(2) iv. i i il
(@) i1 1 i iv
M) [ v 1 1
x|
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53.

During financial year 2020-21 in
Rajasthan engineering goods, fextiles,
bhandicrafts, metal & chemicals
and allied accounted for what
percent of exports from the state ?
(1) less than 40 percent

(2) less than 50 percent

(3) more than 50 percent

{4) more than 60 percent

As per 2021-22 (AE) at 2011-12
constant prices, the contribution of
which of the following sub-sectors
of service sector in Gross State

Value Added (GSVA) of Rajasthan

is the highest ?

(1) Real estate,
dwellings &
services

(2) Trade, hotels & restaurants

(3) Fmancial services

(4) Transport, storage, communication

ownership of
professional

Consider the following statements

regarding Mukhyamantri Vridhjan

Samman Pension Yojana :

(A) The whole burden of pension is
borne by the state government

(B) The rate of pension for person
aged 75 years or above is ¥ 750
per month.

“Choosethe-correct option :

(1) Both (A) & (B) are true.
(2) Both (A) & (B) are false.
(3) Only (A) is true.

(4) Only (B) is true.

54. Which of the following is not true

regarding eligibility for Palanhar

Yojana of Rajasthan ?

(1) Children of remarried widow
are eligible under certain
conditions.

(2) The eligible child should not
be more than 18 years of age.

(3) Palanhar and children should
be staying in Rajasthan for two
years from date of application.

(4) The annual income of
Palanhay family should not
be more than 1.20 lakhs.

11
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What is the percent contribution of

Rajasthan state to the total crude oil

production of the country as per

Economic Review 2021-22 ?

(1) About 33 percent

(2) About 20 percent

(3) About 10 percent

(4) About 30 percent

Under the Rights of Persons with

Disability Act 2016 implemented by

Government of India, the number of

categories of disability have been

increased to

(1 19 2 20

B3 21 (4 22

Which of the following statement is

not true about Rajasthan Indira

Gandhi Matritva Poshan Yojana ?

(1) It 1is applicable to women
becoming pregnant for second

time.

(2) Under this Pratapgarh,
Dungarpur, Banswara and
Udaipur distriects have been
included.

(3) Under this scheme, ¥ 5,000 will be
directly transferred to

beneficiaries in 5 phases.

Scheme is being implemented in

collaboration of ICDS under

Women and Child Development

Department.

Read the following statements carefully —

Statement-1: The National Crime
Records Bureau (NCRB) was set-
up in 1986 to function as a
repository of information on crime
and criminals so as to assist the
investigators in linking crime to
the perpetrators.

Statement~2: According to National
Crime Records Bureau Report
2021 maximum theft cases were
reported in Delhi (1,98,133 cases)
followed by Jaipur (7,860 cases).

Select the correct option among the

following :

(1) Only statement 1 is true.

(2) Only statement 2 is true.

(3) Statements 1 and 2 both are true.

(4) Statements 1 and 2 both are
false.

@

=
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The duration of Rajasthan
Investment Promotion Scheme
(RIPS) 2022 is —

(1) October, 2022 to March, 2027
(@) October, 2022 to October, 2027

(3) January, 2022 to December, 2027
(49) October, 2022 to October, 2025

Which amaong the following
institutions has released the “2022
in Nine charis” report ?

(1) World Bank (2) WHO

3y WTO (4) WMO

Read the following statements

carefully :

Statement-1 : According to TIME
Magazine, Gautam Adani,
Karuna Nundy and Khurram
Parvez are among the 100
most influential people of 2022.

Statement-2 : The TIME magazine’s
100 most influential people list
has been divided into 6 major
categories — Leader, Titan,
Pioneer, Artist, Icon and
Iunevator.

Select the correct option among the following :

62.

63.

(1) Only statement 1 is true.

(2) Only stateinent 2 s frue.

(3) Statements 1 and 2 both are
frue.

(4) Statements 1 and 2 both are

false.

The maximum amount payable per
month to the eligible candidate
under Chief Minister Ekal Nari
Samman Pension Yojana is—
(1) T 1,500 @) % 15,000
3) ¥5,000 (4) ¥ 1,000
At which of the following grounds
was the final match of the FIFA
World Cup 2022 played ?
(1) Lusail Stadium
(2) Al Bayt Stadium
(3) Khalifa International Stadium
(4) Al'Thumama Stadium

11
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i 64. About how many meetings will India

host during its Presidency of G-20 7
(1) 25 @ 50
(3) 100 (4) 200

Read the following statements

carefully :

Statement-1 : ISRO’s PSLV-Cbs4
has successfully launched
EOS-06 satellite along with
Eight Nano-satellites into two
different SSPOs.

Statement-2: The mission was
accomplished from  Satish
Dhawan Space Centre SHAR
on 10tk December 2022.

Select the correct option among the

following :

(1) Only statement 1 is true.

(2) Only statement 2 is true.

(3) Statements 1 and 2 both are
true.

(4) Statements 1 and 2 both are
false.

gﬁl
EWE

66. Which among the following has

‘been selected for Sahitya Akademi

Yuva Award 2022 in Hindi ?

(1) Pramey (Novel) by Bhagwant
Anmol -

(2) Aawaz Ke Station (Pegtry) by
Sumit Dahiya

(3) Democracy Swaha (Satire) by
Saurabh Jain

(4) Gangaputra Bhishm (Novel)
by Ankur Mishra

Who among the following is
presently (as on 15t December,
2022) the Secretary of State of
United States ?

(1) Antony J. Blinken

(2) Kamala Harris

(3) Dr. Janet Yellen

(4) Lloyd Austin

67.
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TGS

A statement 1is given below
followed by two assumptions
numbered I and II. You have to
decide which of the assumption is
implicit in the statement.

Statement : A warning in a train
compartment “To stop train,
pull the chain”. Penalty for
improper use T 1000.”

Assumptions.

I. Some people misuse the stop
chain.

II. On certain occasions, people
may want to stop a running
train.

Give answer :

(1) If only assumption I is
implicit.

(2) If only assumption II is

implicit.

If both I and IT are implicit.

If neither I nor IT is implicit.

3
@

A statement is given below

followed by two arguments

numbered I :and II. You have to

decide which of the-arguments is a

‘strong’ argument and which is a

‘weak’ argument. _

Statement : Should foreign films
be banned in India ?

Arguments :

I. Yes, they depict an alien
culture which-adversely affects
our values,

I1. No, foreign films are of a high
artistic standard.

(1) Only I is strong.

(2) Only II is strong.

(3) Both I and II are strong.

(4) Neither I nor II is strong.
11
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70. Below are given two statements

followed by four conclusions
numbered I, II, IIT and IV. You have
to consider the given statements
true and decide which of the given
conclusion/s logically follows from
the-given two statements :
Statements :

1. Some students are teachers.

2. All teachers are boys.
Conclusions :

I. All students are boys.

II. Some boys are students.

II1. Some boys are teachers.

IV. All teachers are students.

(@) Only I follows.

(2) Only II and I1I follows.

(8) Only IV follows.

(4) Only I and III follows.

Assume following statement is true.

On the basis of statement decide

which of the courses of action

logically follows it.

Statement : People residing in some

tribal areas are far from education.

Courses of action :

I. A mass awareness programme
must be initiated in these areas.

II. Social workers should be

entrusted to educate them.

Only I follows.

Only II follows.

Both I and II follows.

Neither I nor II follows.

(D
2
(3)
(4)

The number of squares in the given
figure is

(1) 7
3) 9

(2 8
4 10
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& E At FT AT IS S —
2 4 11 37
3°818°38°

115

153
1) =g TN

78

141 2
58

(2)

@ o @

S A i qa e —

AYD, BVF, DRH, ?, KGL
(1) FMJ (2) GMJ
(3) GLI (4) FLI

7S 31aR ARl T B T 318N g HE:
TR e T WA gl i § 7
_be ca aba c ea

(1) abebb (2) bbbee

(3) baabb (4) abcca
= § 9 o ey s Ry |
i yfoeenfia s ?

MILD : NROW :: BACK : ?
(1) CNEA (2) YZXP
(3) CMJA 4) YPFX
T S0t 7 s T wg =l g -
275, 396, 385, 891, 932

(1) 275 (2) 396 :
(3) 385 (4) 932

A, B 1 9 & 9a% B @ C TH-gm i

|
|
|
!
T 81D, CHRam & (IR E, D w1 |
Foi At ey |
@ C AT ;
(2) E, ASGIOMIE | |
(8) D, AR |
(4) B, BEramid | |

20
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73.

74.

75.

76,

1 77.

78.

The next term in the given series is —
2 4 11 37

3:8718°38+ %
115 153
D “7g @ 78
64 141
@ =3 4) 55

The missing term in the given
series 1s —

AYD, BVF, DRH, 7, KGL

(1) FMJ (2) GMJ

(3) GLI (4) FIi

Which one set of letter when
sequentially placed at the gaps in
the given leiter -series shall
complete it ?
_bc_ea_aba_c_ca
(1) abebb
3) baabb

(2) bbbce
(4) abeca

Which of the following option will
replace the question mark ?

MILD : NROW :: BACK: ?

(1) CNEA (2) YZXP

(8) CMJA (4 YPFX
Choose odd one out term among
the following series :

275, 396, 385, 891,932

1) 275 (2) 396

(3) 385 (4) 932

A is son of B while B and C are the
sisters to one another. D is the
mother of C. If E is the son of D,
which one of +the following
statements is correct ?

(1) Cis the grandmother of A.

(2) E is the maternal uncle of A.
(3) Dis aunt of A.

(4) Bis aunt of E.

11
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(3) 77:43
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(2) 35:21

4) 63:37

afe d AT TaTeIS Gl 6T A
T T Y 130 RS 8, A TH § =
HER
(1) 64
(3) 66

T T L I A e I Ewukes it ek by ol e ynamshi

(2) 65
4) 67
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82.

83.

o]
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80.

81.

1 79. Select a figure from the four alternatives

which when placed on the blank space
(marked as ?) of given figure (Q) would

complete the pattern.

(¢ 18]

el
@ {© @ |®
@ |® @ |©

If a :\]5 and b =\]§, thenii]l;
will be equal to—

1) 2+ab () 3+ab

(3) 4+ab (4) 6+ ab

If there are two groups containing
30 and 20 observations and having
50 and 60 as arithmetic means
respectively, then the combined
arithmetic mean of two groups is :

(1) 52 (2) 54
(3) 55 (4) 56

A and B are two alloys of copper
and zinc prepared by mixing these
metals in the ratio 7:3 and 7:5
respectively. If equal amount of
both the alloys are melted together
to form a third alloy C, then the
ratio of copper and zinc in Cis

(1) 49:15 (@) 35:21
(3) 77:43 4 63:37

If the sum of three consecutive

positive numbers is more than the
middle number by 130, then
greater number among these is :

1) 64 2) 65
(3) 66 4) 67
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In a class, the number of boys is
more than number of girls by 10%
of the total strength of the class.
The ratio of number of boys to girls
15 —

1) 11:9 @ 9:11

3) 11:10 4) 10:11

The compound interest (in rounded
off) on ¥ 4,000 for 3 years at 3% for
first year, 4% for second year and
5% for third year, will be

(1) T4,332 (2) ¥4,499

(3) T 4,628 (4) T 4,826

A bucket contains 2 litres more
water when it is filled 80% in

2
comparison when it is filled 66 5%.

What is the capacity of bucket ?
(1) 8litres (2) 10 litres
(8) 15 litres (4) 20 litres

The pie graph given below shows
the breakup of construction
expense of a house. (total cost
30,00,000)

Labour

[90°
54° Y 727 _

Steel / 540\ Cement
Bricks

The amount spent on labour exceed
the amount spent on steel by :

(1) 5% of total cost

(2) 10% of total cost
(3) 12% of total cost
(4) 15% of total cost

11
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To hear a distinet echo, the time
interval between the original sound
and the reflected one must be at
least

(1) 0.01s (2) 0.1s
3) 1.0s ) 10s
The bandwidth required for
commercial telephonic

communication (speech signals) is

(1) 300 MHz  (2) 30kHz

(3) 42MHz  (4) 2800 Hz

Which of the following is not a

measuring unit of processing speed

of computers ?

(1) MHz (2) MIPS

(3) MOFS (4) MFLOPS

SMTP in networking meant for

(1) Simple Mail Transfer Protocol

(2) Simple Message Transfer
Protocol

(3) Simple Mail Transport Protocol

(4) System Mail Transport Protocol

How  many  satellites were

launched by ISRO using LVM3

rocket 1n October, 2022 ?

1) 3 2 12

(3) 36 4) 72

Which of the following is a surface-

to-surface missile ?

(1) Pralay (2) Akash
-(3) Rudram (4) Astra
The developer of ‘BRAHMOS

missile, M/s Brahmos Aerospace
Private Limited (BAPL) is 2 joint
venture of India and

(1) China (2) USA

(3) Japan (4) Russia

When the one dimension of a material
is reduced to nano range while other
two dimensions remain large, then the
resulting structure is-—

(1) Quantumdot (&) Quantum well
3 Quantum wire(d) Quantum ball
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Which of the following is an auto-
immune disease ?

(1) Rheumatoid arthritis

(2) Hepatitis-B

(8) Type 2 diabetes

(4) Filariasis

On an average, 'urea excreted by a
healthy adulf human per day is

(1) 10-15mg (2) 150-200 mg
(3) 2-2.5gm (4) 25-30gm

Maximum prescribed concentration
of copper in drinking water is

(1) 15 ppm (2) 12 ppm

(3) 8 ppm (4) 3ppm

What was the first commercially
grown, genetically engineered food

crop approved for human
consumption ?
(1) Soyabean (2) Tomato

3). Rice (4) Brinjal

How many districts of Rajasthan
have been included under National

Horticulfture Mission ?
(1) 19 2) 24
(3) 28 1) 31

Which of the following food groups

is the main source of carotenoids ?

(1) Fats and sugars

(2) Fruits and vegetables

(3) Milk and meat products

(4)- Cereals, grains and their
products

Which of the following artificial
sweetners hds the  highest
sweetness value in comparison fo
cane sugar ?

(1) Saccharin
(3) Aspartame

(2) Alitame
(4) Sucrolose
11
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1138. Fill in the blank with the correct | 118. Fill in the blank with the correct

form of the tense : option.
How long _____ learning English ? ‘ Of the three, tea, coffee and cocoa,
(1) had you the ___ is his favourite.
(2) have you been (1) latest
(3) hasyoube Eém (2) later
(4) has you been B (3) latter
(4) last
114. Change the following sentence i

from active to passive : 119. The Hindi version of ‘Standing
They use video for teaching the Committee’ is
students. | (1) =Riaaff
(1 V;idgo 1'? used for teaching the @) e aRiR

students.
(2) The students have been (3) weiaff

watch video for teaching. ‘ (4) |
(3) Video is Sh:own to students for5

teaching. i 120. Choose the correct.synonym of the
() The students use video to ° word :

learn. i Honest

115. Change the [following sentence | (1) Upright (2) Rupture

from interrogative to assertive : (3) Hypocritical (4) Destitute
When can their glory fade ? )

121. Identify the incorrect use of the |
prefix :

Under

(1) Undergo

(2) Underground
{3) Undersell
(4) Underover

(1) Their glory can never fade.

(2) Fade will never their glory.

(3) No, the glory will never fade.

(4) The glory to fade is not
possible.

116. Fill in the blanks with the correct

Srmus ot iahasmbt bl Wit Humsbiors S kil Nrienks UK VoAt Yok dadn AT Yot e ity rrin it U o TR

option.

I must write ____ letters, so I

need _____ paper. 122. Fill in the blank with the correct

(1) any, some (2) some, some option,

(3) none,some (4) every, either His mother was ___ and hearty
till yesterday when she suddenly

117. Fill in the blank with the correct died.

preposition. (1) heel

The man is leaning the wall. (2) hail

(1) opposite (2) into (3) hale

(3) against 4 in (4) heal

11
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123. Fieififaa § & #F @ sfeie Wl | 123. Which of the following inscriptions

124.

125.

126.

127.

11

IR o YRR SR T 3BT AA & 7
(1) < sl

©2) fesiferr st

(3) afedren Aftcr@

(4) FFER Al

TeIHIe ARETE | WEh & 91 Fai=
S S o1 ?
(1) <=

(3) gHifew (4) IRT
oeE ¥ fefafad 3gi W RER
Hifre -

@) fim<fr=igg

(i) IRTRHIIE

(iif) HER BT TS

(iv) Al S gg

SR ALK HEINIGELEE

D) @, Gv), GiD), Gi)

(2) G, (v), (i), @

@ @, @, @), @)

4 @, @), @v), ()
frfofan & 3 e Tegg wmas 1 P
aTeTE & Rewrs fagig e 7

(1) <RI TR SR

(2) ARETE % HERIST SHadg

(3) TS % HERI TSIIHE

(4) IR & AERE FFftE

AT 31T TIeTS o AT ?

(1) ¥-Trered sgae, Fras e 768
grar e |

(2) Y-Torg ojae, Ed qar
T & €9 H lar o |

(3) TST BRI FI S FTell Th FhR hl
SR | :

(4) awagRr TR U TR i I9 |

T e ed Srusd Wraied TS AR SIS S TRATH T Pert] WAL Tt T T é

N
~

{l124.

i
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EEE
(2) y9H 53“3

125.

i
i

126.

is a good source of the early history
of Shakambhari Chauhan ?

(1) Chirwa Inscription

(2) Bijolia Inscription

(3) Ghatiyala Inscription

(4) Manmori Inscription

In Medieval Marwar who was the
top most officer after the ruler ?

(1) Diwan (2) Pradhan
(3) Musahib (4) Amatya
Consider the following battles of

Rajasthan :

(1) Battle of Gingoli

(11) Battle of Sarangpur

(ii1) Matire ki Rad

(iv) Battle of Dattani

The right chronological order of
these battles is —

() @, (v), ), @)
2 ), Gv), @d, @

(3 @, @), ), @)
4) @), @), @v), @)

‘Who among the following Rajput
rulers revolied against the Mughal

: Emperor ?

4

i (1) Maharaja

Anup Singh of
Bikaner

(2) Maharaja Jaswant Singh of

i

127,
: (1) Land Revenue

(2) Land Revenue

Marwar
(3) Maharana Raj Singh of Mewar
(4) Maharaja Bishan Singh of
Amer

What was Lata or Latai ?

system, 1in
which transaction was in cash.,
system, in
which transaction was in crop.

7373.(3) A kind -of forced labour by the

"~ State.

{(4) A kind of cess imposed by the
. feudal lord.

! a



128. fretfafes 4 @ fow Se § wamfls
TGS HI TG T ?
(1) ="
(3) Truwt

129.

130.

131.

(2) =l
(4) JFSAA

WTg SR 7 g AR g
EET e o1 :

(1) S [ %

(2) VBT A HE
(3) oot T See &
(4) ST SN BRI %

gEEvay ¢

(1) SEYISTHESE
ORI EEEES
(8) THYL ISHSH
(4) SiGETST ASHSH

giifera =hifsa
(THT=IR-9A)
(A) TS
"afyer
By TSwE
THMER

(C) wudfem

I

(HuTEs)
Q) , e
()  owESar It

(i) SEEREY
Y

(v) S wEH
G

(D) miEm

%e:

A ® © O
(1) Gv) @) @ (i)
@ @ @ v G
@ @ O @ G
(4) (v) Gil) G) @)

N
[+5]

F

“Hnkineth Hruniivabt Yrumidns ol FUsSIURSe Sy A TR THLAHISE VAt b sl Sy | s

128. In which of the following prisons

{129,

130.

131.

Pratap Singh Barhath died ?
(2) Bareilly
{4) Andaman

(1) Banaras
(3) Nimaj

Rabindranath Tagore returned
Knighthood award in protest of —

(1) Partition of Bengal

(2) Imposition of Rowlatt Act
(3) Shifting of Capital to Delhi
(4) Jallianwala Bagh Massacre

To which Prajamandal did freedom
fighter = Dharmchand  Surana
belong ?

(1) Jaipur Prajamandal
(2) Sirohi Prajamandal
(3) Dungarpur Prajamandal

(4) Banswara Prajamandal

Match the following :
(Newspaper) (Editor)
(A) Rajasthan (i) ‘Samarthdan
Patrika
(B) Rajasthan (i) Rampratap
Samachar- Sharma
(C) Sarvhit (iii) Jainarayan
Vyas,
(D) Aagivaan (iv) Bakshi
Lakshman
Singh
Code :

@ ® © O

@) @) () @ G

) @) @ Gv) @i

@) Gv) @) G Gii)

(@) (v) Gi) @ O
11
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Who among the following was/were
the member/s of Dr. Shankar Dev
Rai Committee, constituted during
the infegration of Rajasthan ?

(i) Prabhudayal

{ii) Dr. Abhay Singh

(i) R.K. Sidhwa
Code:

(1) Only ()

(3) () and (iii)

(2) Only (i)
@ @@, (i) and (i)

Which one of the following pairs is

not correctly matched ?

(1) Gugor Fort — Baran

(2) Timangarh Fort — Karauli

(3) Boreshwar — Udaipur
Mahadev Mandir

(49) Sunehri Kothi — Tonk

Chandulal, Mukund, Munnalal

were the painters of which

painting style ?

(1) Mewar style (2) Bikaner style
(3) dJaipur style (4) Alwar style

The dialect in which the
compositions of Bhakti Saints
Sahajobai and Dayabai are found —
(1) Mewati (2) Malvi

(3) Dhundaxi (4) Nimadi

‘Which one of the following is an
autophonic instrument ?

(1) Kundi (2) Karna

(3) Peli (4) Tankora

Who among the following was a
famous Bhavai Dancer ?

(1) Dayaram (2) Manocharlal
(3) Misrilal (49) Ramlal

. Which of the following customs is

not related to marriage ?
(1) Samela (2) Satarwada
(3) Baan 4) Mugdhana
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{ 144.

139. Rikhiya and Neja are related with
which of the following folk deity ?
(1) Pabuji (2) Tejaji
(3) Mallinathji (4) Ramdevji

140. Which one of the following pairs is

correctly matched ?
(1) Nathmal ki Haveli — Jodhpur
(2) Phalvardhika Devi - Mt. Abu

Temple
(3) Chandra Mahal — Jaipur
(4) Malkot Fort — Hanumangarh
£ 141, Who established Sarvodaya

‘Sadhana Ashram in Chittorgarh ?
(1) Siddhraj Daddha

(2) K.M. Munshi

(3) Manikya Lal Varma

(4) Jin Vijay Muni

{ 142. Who presided over the assembly of

Meenas at Neem. ka Thana in April
19447

(1) Muni Magan Sagar

(2) Chhoturam Jharwal

(3) Jawahar Ram

(4) Laxmi Narayan Jharwal

143. Who was the first ruler in India to

issue gold coins ?
(1) Kujul Kadphesis
(2) Wima Kadphesis
(3) Kanishka
(4) Menander
Which of the following Sanskrit
texts is a drama ?
(1) Kumarsambhav
(2) Raghuvansh
(3) Meghdoot
(4) Malvikagnimitra .
145. Which of the following temples is a
brick-built temple ?
(1) Vishnu Temple at Tigawa
(2) Shiva Temple at Bhumara
(3) Parvati Temple at Nachna-
Kuthara
(4) Vishnu Temple at Bhitargaon

i1

|




146.

147.

148.

149.

150.

11

frmfeifaa 4 9 fred s ot T
SRR waet w1 fmior s ?

(1) IR (2) wEhR !
(3) Tl (4) el
Fraferfga & ¥ = a1 yem Tl T%e
TR Tfid AesU A SR 8 ?

(2) RfrgERT & THEG

(3) T 1 HHET

(4) BISATITE 1 ThEL

TG < T o wR T st

(o) WHUlRn 4§ w5 faurd
T w1 afts  yffergs
IR |

(b) TEERMET 7 -UIE # w5
T i ThTea W A |

EHETACIECEET R

(1) eI YA (2) TAE |

(2) ST HYT (b) TH R |

(3) TAFHY (2) € (b) TR |

(4) ¥ (a) 7 (b) B ECTF |

T s e T 1857 % fagig o
ECICEIEERTIEGEE 2

(1) @A SRIGLEA (2) TEmd@m
(38) HieTell 3TEHGTeII(4) HeTh et

Frfafgad d s argafaaadig 7

(1) e & anEm-99 — ST 3

(2) TUH HRE GIER- ~  E-39-
IEEN

— 9H-T-
LRl

(4) 949 AUST GHER-T — TR

Tranae i B sk s

(3) TRAT 3¢ HHTEIR-"T

i A LAY ruLane Nsuace s s HAATIIRS THLKRNTE USRI b S T L ] et AT T

w
=

(1) armEs E

146.

147.

148.

149.

150.

Who among the following built
Jahangiri Mahal at Agra Fort ?

(1) Akbar (2) Jahangir

(8) Nurdahan (4) Shah Jahan

Which of the following is
considered the first entirely white
Marble tomb ?

(1) Taj Mahal

(2) Itimadudaula’s Tomb

(3) Humayun’s Tomb
(4) Hoshang Shah’s Tomb

Read the following statements

about the politics of the moderates :

(a) The Moderates demanded that
the Legislative Councils are to
be made more representative.

(b) The Moderates also advocated
for the reduction of land
revenue.

Choose the correct code :

(1) Only statement (a) is true.

(2) Only statement (b) is true.

(3) Neither statement (a) nor (b) is
true.

(4) Both (a) and (b) are true.

Who declared himself as Nawab
Nazim in 1857 Revolt in Barailly ?
(1) Khan Bahadur Khan

(2) Liaquat Khan

(83) Maulvi Ahmadullah

(4) Mubaraq Ali

Which of the following is not
correctly matched ?
(1) The first Hindi - Udant
Newspaper Martand
(2) The first Persian — Mirat-ul-
Newspaper Akhbar
(3) The first Urdu - Jam-e-
Newspaper Jahanuma
(4) The first Marathi — Yuggantar
Newspaper
x|
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